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6 -1 1980 —2013 sEM & F5 5L

(VL EAEHH% 0 100) B %

O J& B BN S TR 5L TEMIEIREL
1980 102.4 102.5
1981 102.3 102.6
1982 101.3 101.4
1983 101.1 101.2
1984 100.3 100.0
1985 107.4 107.4
1986 106.8 106.9
1987 108.6 108.9
1988 122.1 122.9
1989 115.3 114.3
1990 105.2 103.3
1991 106.8 106. 8
1992 109. 1 108. 8
1993 113.5 108.9
1994 126.4 120.1
1995 117.5 111.8
1996 110.8 107.8
1997 101.7 100. 4
1998 99.0 96. 4
1999 99.8 9.5
2000 99.3 97.5
2001 100. 4 99.8
2002 99.7 96.9
2003 102.2 100.6
2004 102.9 101.4
2005 100.1 98.5
2006 101.1 99.9
2007 103.6 101.8
2008 104.4 103.4
2009 99.4 99.0
2010 102.7 102.2
2011 104.5 104.3
2012 102.3 101.8
2013 101.7 101.1
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6-2 JEERHEIIHIER(FE)

(2013 4F) A %
Mo 2K G LI 42K 100 [ LI E4E2R 100

EREEMIE SIS 101.7 PO GREEBAS T S 4R IR 55 100. 8
B Mg HE %L 100.3 1. it FHYE 2% 100.5
ke 5535 5 ke a4k 100.7 (HHRA 100.0
Tl S ks 48 %L 100. 1 (2) REEWA 100. 8
BRI RE TR M A% 48 4L 100.4 2. = N 100.0
Fni fif S fif SR R 4L 101.3 3. R B 100.0
TH A e A 102.0 4. ZBE H A5 100.7
— B 104.7 5. ZRBEENRSS Bom T4 IR 55 105.8
1 ARE 106.3 i BESFOREEFAS AR 100.0
2. JERY 109.2 1. BEY7 Ok 100.3
3. TR 103.8 (1) B asEH 5 100.4
4. MK 100.3 (2) Wbt b2 101.5
5. A8 B H A 105.6 (3) 74z 100.3
(1) BHE RN KR 108.5 (4) F R EL K 100.0
)& 92.4 (5) By O AR 55 100.0
G)YMTAE 103.6 2. N N B R 55 99.3
6.7 104.3 (D) At 25 it 100. 1
7. K75 b 106.9 (2) VAt 101.2
(1)fa 106.9 (3) A N i iy 95.4
(2) HAthrk 7= i 106.9 (EOKWNIE: 108.6
8. 3¢ 110.0 7N 3B ER 99.8
9. PR 101.2 1. 3538 100.0
10. ¥ 101.4 (1) 383 T H 100.0
1. 5% B ikt 101.7 (2) ZE AR B 2R i A4 9.1
(1) Z&nt: 100.0 (3) Al I e A 2% 100.0
(2) okt 103.1 (4) T XAz 7% 101.3
12. e IR 103.7 (5) ek i B] 328 100.0
13, k& F T 101.9 2. 38 1F 99.4
14 AL B L il 104.8 (D)EFTE 96.2
15. 7E51 FHIE £ 5 102.7 (2) BfEMRS 100.0
16. HAh £ 5 101.6 & WBRRAE ST FRS 100. 1
B i 99.7 1. SCIE FH o T 2% o 2 IR 55 99.2
1. M5 100.2 2.HF 100.3
2.8 99.4 (1) #b ke B%H 100. 0
= K& 100.5 (2) %P2 4E4h 2 100.3
1. e 100.7 3. CAIR IR 100.3
(1) A ke 100.8 (1) SCARIR SR H ity 100.0
(2) Zex Ui 100.6 (2) PBezek 100.0
(3) JLEE R 100.6 (3) SCIRT% 100.5
2. KA M B 100.0 4. il 100.5
3. EEBRIE 100.0  \ JEfE 100. 8
(1)% 100.0 1. 3 BB A 100.9
(2) #kF 100.0 2. 4 100.9
(3)MH¥ 100.0 3. HEME 101.1
4. RE T RS 100.0 4. 7K HL K 100.3
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6 -3 R EFHEMARIEE(FE)
(2013 4F) B %
[T < PB4 100 [ PA_EAE R 100

HmEEMEEEH 101.1 4 2585 100.0
— B 104.5 1. AE R 100.0
LB 106.3 2. K E TG 100.0
2. JEH 109.2  h KB KRS 99.9
3. TR LT 103.8 1 REEBL % 100.8
4. MpE 100.3 2. SCY5 TR I 9% 98.5
5. A& B 104.2 3. HReEA 100.0
(1) B HF A BRI 7= i 106.3 75 3CARINAS L 99. 1
)& 92.4 L HHM 100.2
(3) RN 103.6 1. HHES 99.9
6.4 104.3 2. HHZ%dm 100.0
7. 7K 106.9 3. YEH 100.6
(1) 106.9 4. HAl RS 100.0
(2) HoAbAK ™ i 106.9 N AREH GRS 100.0
8. 3% 110.0 1. JAH I 100.0
9. TR 101.2 2. IRAR H i 100.0
10. ¥k 101.4  Ju 2¢3 GEfE 99.5
11, - IR 103.7 1. 28 F AL 100.0
12, kS YT 101.9 2. JE{F et 97.8
13. WAL S F L 104.8 KA 100.0
14. 7EAMNHIEE 5 102.7  +— At 101.4
15, HAb R i 101.6 += &MEKE 92.1
YORE AR 100.1 = A7a 2y K BT AR A 100. 6
1. 28 Kepord 101.3 1. By g B L i 100. 4
(1) Znt 100.0 2. bt K 2 101.5
(2) okt 102.5 3. 7624 100.3
2. A 100. 2 4. g A B 100.0
3.7 99.4 AP0 BaRAE LA T HRY) 100.0
© Rk EETE 100.5 I YSE =T 100.0
1. IR 100.7 2. fifla gk 100.0
(1) B 100. 8 3. HL T EAR L 100.0
(2) LU 100.6 - ARk 98.3
(3) LM% 100. 6 L. R B il fh 92.5
2. BERkIE 100.0 2. id B il & 99.8
(1) %k 100.0 /N SR T4 R 100.0
(2)#T 100.0 1. RSB AR 99.9
(3) ¥ 100.0 2. &k 100.0

3. FAth 100.0
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6 -4 JEERHEIIHEIEE(A L)

(2013 4F) A %

o 2Kl —H — A =AM 79 A H A avz ki
BREFEMEBIER 100.2 101.2 100.4 101.4 101.4 101.9
e Mg HE %L 99.6 99.6 99.9 100.2 100.3 100.5
e 5535 5 ke a4k 98.9 99. 1 100.0 100.8 100.8 100.9
Tk s s Ha %R 100.0 99. 8 99.9 99.9 100. 1 100.2
BRI RE TR M A% 48 4L 99.6 99.5 100.0 100. 4 100. 4 100.5
FiBi fif S fif AL R L 100.7 100.9 100.9 101.1 101.1 101.2
TH 2R i AN AR R 2K 100.6 101.9 100.5 101.6 101.6 102.3
— B 101.5 104.8 101.4 104.0 103.8 105. 4
1 RE 103.3 104.0 104.6 105.9 106. 6 107.0
2. JER 116.7 116.9 116.7 115.6 107.6 108.0
3. TEE KT 101.6 103.7 104.4 104.9 108.2 106. 4
4 JMAR 105.3 106. 4 106. 4 106. 8 106.3 101.6
5. A& B 105.0 105.9 104.8 102.7 102.8 104.9
(D) BHE R BRI ™5 105.4 107.3 105.9 103.9 104. 1 107.8
)& 102.4 103.3 101.2 91.4 90.2 88.8
) MTAE 105.0 103.5 103.6 104.1 104.2 104.0
6. % 110.7 121.7 113.3 112.1 107.6 99.0
7. K75 109.5 108.6 105.8 104. 8 104.0 103.3
(1)1 111.7 109.5 106.5 104.4 102.9 100.9
(2) HAthrk 7= i 107.2 107.7 105.0 105.2 105.3 106. 1
8. 3¢ 96. 8 108. 4 85.7 107.0 103.0 119.3
9. IR 102.3 99.3 100.0 101.1 101.8 101.5
10. B 102.2 102.5 102.3 102.7 102.0 100.7
L1 %8 okt 103.7 103.7 103.6 103.4 103.4 102.0
(1) Z%sht 100.0 100.0 100.0 100.0 100.0 100.0
(2) %k 106.9 107.0 106. 8 106. 4 106.3 103.6
12. TR 90.3 101.9 103.9 103.9 107.6 109.6
13. K& F T 100. 8 99.8 99.7 99.9 100. 8 103.1
14. AT B FLif & 100.2 99.5 99.6 99.6 99.6 101.9
15. ARG 101.6 102.0 102.4 102.7 102.8 102.8
16. HAh £ 99.9 98.8 98.8 98.2 99.2 102.0
= 99.4 100. 1 100.2 100.3 100.7 100. 4
1. 100.0 100.0 100.0 100.0 100.0 100.0
2. 7H 99.0 100. 1 100.4 100.5 101.2 100.6
= AKE 100.0 100.0 100. 1 100.3 100.3 100. 4
1. ek 100.0 100.0 100.2 100. 4 100. 4 100.6
(1) B 100.0 100.0 100.3 100.6 100.6 100.7
(2) =R 100.0 100.0 100. 1 100.3 100.3 100.5
(3) L R 100.0 100.0 100.0 100.0 100.0 100.8
2. KA M B 100.0 100.0 100.0 100.0 100.0 100.0
3. BERRIE 100.0 100.0 100.0 100.0 100.0 100.0
(1) % 100.0 100.0 100.0 100.0 100.0 100.0
(2) %+ 100.0 100.0 100.0 100.0 100.0 100.0
(3) I+ 100.0 100.0 100.0 100.0 100.0 100.0
4. KA N T RS %% 100.0 100.0 100.0 100.0 100.0 100.0
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6-44%1 (2013 4F) HA %

o 2Kl L H G JNA 1y JLAA + A5 =R += A
BREFEMEBIER 102.2 101.8 102.6 102.8 102.6 101.6
e Mg HE %L 100. 5 100. 6 100.5 100.7 100. 8 100. 8
e 5535 5 ke a4k 101.0 101.1 101.5 101.6 101.5 101.4
Tk s s Ha %R 100.3 100.2 100.0 100. 1 100.4 100.4
BRI RE TR M A% 48 4L 100.5 100.6 100.7 100.7 100. 8 100. 8
FiBi fif S fif AL R L 101.5 101.6 101.7 101.8 101.8 101.6
TH 2R i AN AR R 2K 102.7 102.0 102.9 103.3 103.1 101.7
— B 106.3 104.5 107.2 108.0 107.0 103.6

1 RE 107.3 107.0 106.9 107.5 107.9 108.0
2. JER 106.3 105.6 104.2 105.2 105.2 105. 4
3. TEE KT 105.3 105.0 103.2 101.8 100.5 100.7
4 JMAR 99.0 96.9 94.2 94.5 94.7 93.0
5. A& B 105.6 106.7 107.8 108.1 107.6 104.8
(D) BHE R BRI ™5 109.1 111.3 113.0 113.6 112.7 108.5
)8 89.0 88. 1 88.9 88.9 88.4 87.8
) MTAE 103.6 103.3 103.0 102.7 103.3 102.3
6. % 98.3 97.9 102.8 99.4 97.6 96. 6
7. K75 105.9 107.2 108.8 109. 1 109.0 107.4
(1)1 104.7 106.7 108.6 109.3 109.6 109.5
(2) HAthrk 7= i 107. 4 107.8 109. 1 108.9 108. 4 105.1
8. 3¢ 126.8 103.8 125.3 150.1 130.5 99.5
9. IR 101.6 101.5 101.3 101.3 101.3 101.3
10. 4 100.6 100. 6 100.8 100.7 100.7 100.6
L1 %8 okt 100. 1 99.9 99.8 100.3 100. 4 100.2
(1) Z%sht 100.0 100.0 100.0 100.0 100.0 100.0
(2) %k 100.2 99.9 99.7 100.5 100.7 100. 4
12. TR 103.8 105.6 109.9 101.2 104.9 104.6
13. K& F T 103.0 103.0 103.0 103.0 103.1 103.2
14. AT B FLif & 109.4 109.7 108.3 109.2 109.8 111.5
15. ARG 103.5 103.1 102.9 102.9 102.9 102.9
16. HAh £ 100.9 102.7 103.4 103.8 105.3 106.2
= 100.6 100. 1 98.4 98.4 98.7 99.2
1. 100.0 100.0 100.0 100.0 101.0 101.9
2. 7H 100.9 100.2 97.5 97.5 97.5 97.7
= AKE 100. 4 100. 4 100. 4 100.7 101.0 101.5
1. fR%é 100.6 100.6 100. 6 101.0 101.4 102. 1
(1) B 100. 7 100.7 100.7 101.2 101.6 102.3
(2) =R 100.5 100.5 100.5 100. 8 101.1 101.9
(3) L R 100. 8 100.8 100.8 101.1 101.4 101.4

2. KA M B 100.0 100.0 100.0 100.0 100.0 100.0
3. BERRIE 100.0 100.0 100.0 100.0 100. 1 100. 1
(1) % 100.0 100.0 100.0 100.0 100. 1 100. 1
(2) %+ 100.0 100.0 100.0 100.0 100.0 100.0
(3) I+ 100.0 100.0 100.0 100.0 100.0 100.0
4. KA N T RS %% 100.0 100.0 100.0 100.0 100.0 100.0
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6 -4 452 (2013 %) AN %

[ | — A — A =AM 79 A H A avz ki

VY G BE A i S B IR 55 101.5 101.5 101.2 100. 4 100. 4 100.5
L. T R 2 b 100.9 100.9 100.6 100.4 100.4 100.6
(D RA 100.0 100.0 100.0 100.0 100.0 100.0

(2) FREEE 101.5 101.5 101.0 100.7 100.7 101.0

2. 3 AT 100.0 100.0 100.0 100.0 100.0 100.0

3. K B 100.0 100.0 100.0 100.0 100.0 100.0

4. iz H 25 101.7 101.5 100.9 100.7 100.7 100.7

5. RBEEMRS Bom T 4AE IR 55 111.5 111.5 111.5 100.0 100.0 100.0
BT ARER A A 101.0 99.8 100.2 99.9 100.3 100.0
1. Y7 PR f 100.2 99.9 100. 1 100.0 100.3 100.4
(1) 7 H A i 104.6 100.0 100.0 100.0 100.0 100.0

(2) H 2t B v e 24 99.7 99.7 99.7 99.7 102.1 102.6

(3) 744 100. 5 100.0 100.6 100. 1 100.0 100.0

(4) R MR EL R 100.0 100.0 100.0 100.0 100.0 100.0

(5) IR EE AR 55 100.0 100.0 100.0 100.0 100.0 100.0

2.4 NH b B R S5 102.7 99.5 100.5 99.7 100.2 99.2
(1)t 32 25 100.0 100.0 100.0 100.5 100.2 100.2

(2) WAt i 108. 1 103.5 102.9 100. 1 100.2 98.4
(3) A~ At b 99.8 94.8 97.4 96.9 98.1 96.9
(COKWNIE:3 108.6 108.6 108.6 108.6 108.6 108.6

75 Bl AL (R 99.9 99.7 99.5 99.3 99.3 99.7
1. %218 100.3 100.0 99.6 99.2 99.3 99.8
(1) 2838 T A 100.0 100.0 100.0 100.0 100.0 100.0

(2) % AR B 2R T A 102.4 100.2 96.7 93.8 94.2 98.6

(3) ZE4H it H R 4k 3% 100.0 100.0 100.0 100.0 100.0 100.0

(4) T KA A 18 2% 100.0 100.0 100.0 100.0 100.0 100.0

(5) Ykl IA] 3238 B 100.0 100.0 100.0 100. 1 100. 1 100.0

2. i 1E 98.9 99.0 99.2 99.3 99.3 99.3
(1)f5E TR 93.4 94.1 95.2 95.8 95.8 95.8

(2) 15 RS 100.0 100.0 100.0 100.0 100.0 100.0

L BAREE SO RS 98.4 98.9 99.3 99. 8 99.7 100. 1
L. OIS T 2 it SR 55 97.7 97.6 98.1 99.5 99.5 99.5
2.HH 99.5 100.0 100.0 100.0 100.0 100.0
() #HM S 100.0 100.0 100.0 100.0 100.0 100.0

(2) 254040 3 99.5 100.0 100.0 100.0 100.0 100.0

3. AR AR 103.6 100.0 100.0 100.0 100.0 100.0
(1) SCARIR SR i it 100.0 100.0 100.0 100.0 100.0 100.0

(2) Bk 100.0 100.0 100.0 100.0 100.0 100.0

(3) 3% 106.9 100.0 100.0 100.0 100.0 100.0

4. JigliF 88.1 95.1 97.5 99.6 98.6 101.6
AN ES 98.7 98.9 99.8 101.1 101.3 101.3
1. 8 s BeBAE R 99.3 99.8 100.7 101.3 101.3 101.1

2. 4 100.0 100.0 100. 6 101.1 101.1 101.1

3. HEER 97.6 97.6 99.6 102. 1 102.1 102.1

4. 7K WL KR 99.8 100.2 99.5 99.5 100. 1 100.5
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6-443%3 (2013 4F) A %
[ | A5 JNA 1y JLA G + A6 A5 +=HH

VY G BE A i S B IR 55 100.9 100.7 100.5 100.6 100. 6 100. 6

L. T R 2 b 100.5 100. 3 100.2 100.3 100.4 100.4

(D RA 100.0 100.0 100.0 100.0 100.0 100.0

(2) FREEE 100. 8 100.5 100.3 100.5 100.6 100.6

2. 3 AT 100.0 100.0 100.0 100.0 100.0 100.0

3. K B 100.0 100.0 100.0 100.0 100.0 100.0

4. iz H 25 101.1 100. 6 100. 1 100. 1 100.2 100.2

5. RBEEMRS Bom T 4AE IR 55 106.1 106. 1 106. 1 106. 1 106. 1 106.1

BT ARER A A 99.8 100.2 99.6 99.6 100.0 99.7

1. Y7 PR f 100. 4 100. 4 100.5 100.6 100. 6 100.6

(1) 7 H A i 100.0 100.0 100.0 100.0 100.0 100.0

(2) H 2t B v e 24 102.6 102.7 103.0 102.3 102.3 102.3

(3) 744 100.0 100.0 100.0 100. 8 100. 8 100. 8

(4) R MR EL R 100.0 100.0 100.0 100.0 100.0 100.0

(5) IR EE AR 55 100.0 100.0 100.0 100.0 100.0 100.0

2.4 NH b B R S5 98.6 99.7 97.8 97.5 98.8 97.8

(1)t 32 25 100.2 100. 1 100.0 100.0 100.0 100.0

(2) Gt 99.2 99.9 100.4 101.7 101.0 100.0

(3) A~ At b 94.7 97.2 92.5 90.7 94.4 92.5

(COKWNIE:3 108.6 108.6 108.6 108.6 108.6 108.6

75 Bl AL (R 100.2 100. 1 100.2 100. 1 100.1 100. 1

1. %218 100. 4 100. 2 100.3 100.3 100. 4 100.5

(1) 2838 T A 100.0 100.0 100.0 100.0 100.0 100.0

(2) % AR B 2R T A 103.6 101.7 99.3 99.3 100.2 100. 8

(3) ZE4H it H R 4k 3% 100.0 100.0 100.0 100.0 100.0 100.0

(4) T KA A 18 2% 100.0 100.0 104.0 104.0 104.0 104.0

(5) Ykl IA] 3238 B 100.0 100.0 100.0 100.0 100.0 100.0

2. i 1E 99.6 99.8 100.0 99.7 99.3 99.1

(1)f5E TR 97.6 99.0 100.0 98.3 95.5 94.4

(2) 15 RS 100.0 100.0 100.0 100.0 100.0 100.0

L BAREE SO RS 100.0 100. 4 101.1 101.2 101.0 100.9

L. OIS T 2 it SR 55 99.6 99.7 99.9 99.9 99.8 99.8

2.HF 100.0 100. 8 100.8 100. 8 100. 8 100. 8

() #HM S 100.0 100.0 100.0 100.0 100.0 100.0

(2) 254040 3 100.0 100.9 100.9 100.9 100.9 100.9

3. AR AR 100.0 100.0 100.0 100.0 100.0 100.0

(1) SCARIR SR i it 100.0 100.0 100.0 100.0 100.0 100.0

(2) Bk 100.0 100.0 100.0 100.0 100.0 100.0

(3) 3% 100.0 100.0 100.0 100.0 100.0 100.0

4. JigliF 100.9 100.9 106.6 108.0 105.6 105. 1

I\ JEAE 101.3 101.1 101.2 101.4 101.6 101.5

1. 8 s BeBAE R 101.1 101.1 101.3 101.3 101.3 101.0

2. 4 101.1 101.1 101.1 101.1 101.1 101.1

3. HEER 102.0 102.0 102.0 102.0 102.0 102.0

4. 7K WL KR 100. 4 100.0 100.0 100. 8 101.3 101.1
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6-5 MmEEMISIEE(HE)

(2013 4F) B %

[T | —H by — A% =A% A 4 H A NG
HREEMREEE 100.2 101.0 100.0 100.6 100. 6 101.2
— B 101.3 104.6 101.1 103.6 103.4 105.1
LARE 103.3 104.0 104.6 105.9 106.6 107.0
2. VEM 116.7 116.9 116.7 115.6 107.6 108.0
3. TR sl 101.6 103.7 104.4 104.9 108.2 106. 4
4. HifR 105.3 106. 4 106. 4 106.8 106.3 101.6
5. A& SH A 104.2 104.7 103.4 101.0 101.0 103.4
(1) BHE A BRI i 104.1 105. 4 103.6 101.1 101.2 105. 4
)& 102.4 103.3 101.2 91.4 90.2 88.8
(3) W& L i 105.0 103.5 103.6 104.1 104.2 104.0
6. & 110.7 121.7 113.3 112.1 107.6 99.0
7. 9K 109.5 108.6 105.8 104.8 104.0 103.3
(1)t 111.7 109.5 106. 5 104.4 102.9 100.9
(2) HAb A= 5 107.2 107.7 105.0 105.2 105.3 106. 1
8. 3% 96. 8 108.4 85.7 107.0 103.0 119.3
9. R A 102.3 99.3 100.0 101.1 101.8 101.5
10. H 102.2 102.5 102.3 102.7 102.0 100.7
11, T IR 90.3 101.9 103.9 103.9 107.6 109.6
12. KA A 100. 8 99.8 99.7 99.9 100. 8 103.1
13, WAL B FL A 100.2 99.5 99.6 99.6 99.6 101.9
14. FEANH G & 101.6 102.0 102.4 102.7 102.8 102.8
15. HAl B 99.9 98.8 98.8 98.2 99.2 102.0
= YOk 100. 1 100.6 100.7 100.8 101.1 100.7
1. 28 R okt 102.6 102.7 102.5 102.5 102.5 101.8
(1) Z&nt: 100.0 100.0 100.0 100.0 100.0 100.0
(2) TRk 104.9 105.0 104.8 104. 8 104.8 103.4
2. M 100.0 100.0 100.0 100.0 100.0 100.0
3. 99.0 100. 1 100. 4 100.5 101.2 100. 6
= IR A 100.0 100.0 100. 1 100.3 100.3 100. 4
1. e 100.0 100.0 100.2 100. 4 100. 4 100. 6
(1) B =R 100.0 100.0 100.3 100. 6 100.6 100.7
(2) e 100.0 100.0 100. 1 100.3 100.3 100. 5
(3) JLE MRS 100.0 100.0 100.0 100.0 100.0 100. 8
2. BERRIE 100.0 100.0 100.0 100.0 100.0 100.0
(1) % 100.0 100.0 100.0 100.0 100.0 100.0
(2) ¥+ 100.0 100.0 100.0 100.0 100.0 100.0
(3) ¥ 100.0 100.0 100.0 100.0 100.0 100.0
3. HiAth 100.0 100.0 100.0 100.0 100.0 100.0
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6-5%k1 (2013 4F) AL %
[T | LA A B JLA B + A +—Hh +=AG

HREEMREEE 101.6 101.1 101.7 101.9 101.9 100.9
— B 106. 1 104.3 107.1 107.8 106. 8 103.4
LRE 107.3 107.0 106.9 107.5 107.9 108.0

2. JEM 106.3 105.6 104.2 105.2 105.2 105.4

3. TR sl 105.3 105.0 103.2 101.8 100. 5 100. 7

4.3 g 99.0 96.9 94.2 94.5 94.7 93.0

5. A& SH A 104.2 105.3 106. 4 106. 6 106.2 103.7
(1) BHE A BRI i 106.9 109.0 110.6 111.1 110.3 106.7
)& 89.0 88. 1 88.9 88.9 88.4 87.8

(3) W& L i 103.6 103.3 103.0 102.7 103.3 102.3

6. & 98.3 97.9 102. 8 99. 4 97.6 96.6

7. 9K 105.9 107.2 108.8 109. 1 109.0 107. 4
(1)t 104.7 106.7 108.6 109.3 109.6 109.5

(2) HAb A= 5 107. 4 107.8 109. 1 108.9 108. 4 105. 1

8. 3¢ 126.8 103.8 125.3 150. 1 130.5 99.5

9. R A 101.6 101.5 101.3 101.3 101.3 101.3
10. H 100. 6 100. 6 100. 8 100.7 100.7 100. 6
11, T IR 103.8 105.6 109.9 101.2 104.9 104.6
12. KA A 103.0 103.0 103.0 103.0 103.1 103.2
13, WAL B FL A 109. 4 109.7 108.3 109.2 109.8 111.5

14. FEANH G & 103.5 103.1 102.9 102.9 102.9 102.9

15. HAt & i 100.9 102.7 103.4 103.8 105.3 106.2

= YOk 100.5 100. 1 98.8 98.9 99.2 99.6
L 25 Koot 100.3 100. 1 100.0 100. 4 100.5 100.4
(1) Z&nt: 100.0 100.0 100.0 100.0 100.0 100.0

(2) %k 100.5 100. 1 99.9 100. 8 101.0 100.7

2. M 100.0 100.0 100.0 100.0 101.0 101.9
3. 100.9 100.2 97.5 97.5 97.5 97.7

= e BN 100. 4 100. 4 100. 4 100.7 101.0 101.5
1. e 100.6 100.6 100.6 101.0 101. 4 102.1
(1) B =R 100.7 100.7 100.7 101.2 101.6 102.3

(2) %R 100.5 100. 5 100.5 100.8 101.1 101.9

(3) JLE MRS 100. 8 100. 8 100. 8 101.1 101.4 101.4

2. BERRIE 100.0 100.0 100.0 100.0 100. 1 100. 1
(1) % 100.0 100.0 100.0 100.0 100. 1 100. 1

(2) ¥+ 100.0 100.0 100.0 100.0 100.0 100.0

(3) ¥ 100.0 100.0 100.0 100.0 100.0 100.0

3. HiAth 100.0 100.0 100.0 100.0 100.0 100.0
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6-5%k2 (2013 4F) AL %
(T = | — R —H% =H% A 4 A AN

I N 100.0 100.0 100.0 100.0 100.0 100.0

1. AR E R R 100.0 100.0 100.0 100.0 100.0 100.0

2. R B 100.0 100.0 100.0 100.0 100.0 100.0

T F A BB R s b 99.0 99.0 99.0 100. 1 100. 1 100.3

L. KEERA 101.5 101.5 101.0 100.7 100.7 101.0

2. SCYFHTH IV 2% 95.4 95.3 96.1 99.3 99.3 99.3

3. B g 100.0 100.0 100.0 100.0 100.0 100.0

I SCARTNA T 98.2 98.2 98.6 98.6 98.6 98.6

L HA& 101.0 100. 5 100. 4 99.9 99.8 100. 2

1. HHEE 100.2 100. 1 99.7 99.6 99. 1 99.8

2. H Rz 100.0 100.0 100.0 100.0 100.0 100.0

3. VEEH 102.8 101. 4 101. 4 100. 1 100. 1 100.8

4, FoAth & 100.0 100.0 100.0 100.0 100.0 100.0

VAN =R 100.0 100.0 100.1 100.1 100.0 100.0

1. RE H & 100.0 100. 1 100. 2 100.2 100.0 100.0

2. R 100.0 100.0 100.0 100.0 100.0 100.0

JL B G AF A 99. 1 99.2 99.3 99. 4 99. 4 99. 4

1. 22T B LA 100.0 100.0 100.0 100.0 100.0 100.0

2. JEfF bt 96.2 96. 6 97.3 97.6 97.6 97.6

+ Z A 100.0 100.0 100.0 100.0 100.0 100.0

+— At dh 103.9 102.1 101.9 101.1 100. 6 99.8

= SRR E 99.2 93.2 97.8 94.7 96.6 94.3

= PE 2 i R BT R A 100. 4 99.9 100.1 99.9 100.7 100. 8

1. By s B L 104.6 100.0 100.0 100.0 100.0 100.0

2. b B b2 99.7 99.7 99.7 99.7 102.1 102.6

3. 762 100. 6 100.0 100.5 100. 1 100.0 100.0

4. fR g K B 100.0 100.0 100.0 100.0 100.0 100.0

0 AR A A K L T R 100.0 100.0 100.0 100.0 100.0 100.0

1. B e %4 100.0 100.0 100.0 100.0 100.0 100.0

2. Bk 100.0 100.0 100.0 100.0 100.0 100.0

3. R 100.0 100.0 100.0 100.0 100.0 100.0

L R 99.0 98.9 96.3 95.0 95.2 98. 4

L. e Kot i 93.1 94.2 93.5 93.8 91.3 92.8

2. 1 iH B il 100.7 100.2 97.0 95.3 96.3 100.0

TS SRR T R 98.8 99.3 99.7 100.0 100.0 99.5

1. TR R 98.1 99.0 99.6 100. 1 100. 1 99.3

2. HAHE 100.0 100.0 100.0 100.0 100.0 100.0
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6-54:K3 (2013 4£) B %
(T = | LG JNH 6 LA G A A5 T H G

I N 100.0 100.0 100.0 100.0 100.0 100.0

1. AR E R R 100.0 100.0 100.0 100.0 100.0 100.0

2. R B 100.0 100.0 100.0 100.0 100.0 100.0

T F A BB R s b 100.2 100.0 100. 1 100.2 100.2 100.2

L. KEERA 100. 8 100.5 100.3 100.5 100. 6 100.6

2. SCYFHTH IV 2% 99.3 99. 4 99.8 99.7 99.6 99.6

3. B g 100.0 100.0 100.0 100.0 100.0 100.0

I SCARTNA T 99.3 99.7 100.0 100.0 100.0 100.0

L HA& 100. 4 100. 2 99.9 99.9 99.9 99.9

1. HHEE 100.0 100. 4 100.0 100. 1 100. 1 100.0

2. H Rz 100.0 100.0 100.0 100.0 100. 1 100. 1

3. VEEH 101.3 100.2 99.8 99.6 99.6 99.6

4, FoAth & 100.0 100.0 100.0 100.0 100.0 100.0

VAN =R 100.0 100.0 100.0 100.0 100.0 100.0

1. RE H & 100.0 100.0 100.0 100.0 100.0 100.0

2. R 100.0 100.0 100.0 100.0 100.0 100.0

JL B G AF A 99.7 99.9 100.0 99.8 99. 4 99.2

1. 22T B LA 100.0 100.0 100.0 100.0 100.0 100.0

2. JEfF bt 98.6 99. 4 100.0 99.0 97.4 96.8

+ Z A 100.0 100.0 100.0 100.0 100.0 100.0

+— At dh 99.8 100.0 101.8 102.4 102. 1 101.6

= SRR E 90. 1 93.4 87.7 84.4 89.1 85.3

= PE 2 i R BT R A 100. 8 100. 8 100.9 101.1 101. 1 101.1

1. By s B L 100.0 100.0 100.0 100.0 100.0 100.0

2. b B b2 102.6 102.7 103.0 102.3 102.3 102.3

3. 762 100.0 100.0 100.0 100. 8 100. 8 100. 8

4. fR g K B 100.0 100.0 100.0 100.0 100.0 100.0

0 AR A A K L T R 100.0 100.0 100.0 100.0 100.0 100.0

1. B e %4 100.0 100.0 100.0 100.0 100.0 100.0

2. Bk 100.0 100.0 100.0 100.0 100.0 100.0

3. R 100.0 100.0 100.0 100.0 100.0 100.0

L R 100. 6 98.7 97.6 99. 1 100. 4 100. 4

L. e Kot i 93.1 93.5 92.9 92.2 89.7 90.0

2. 1 iH B il 102.7 100. 1 98.7 100.9 103.2 103.2

TS SRR T R 99.9 100. 5 100.7 100.3 100. 4 100.2

1. TR R 99.8 100. 7 101.1 100. 5 100. 6 100. 4

2. HAHE 100.0 100.0 100.0 100.0 100.0 100.0
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6 -6 TalbA = T s e B (4 )

(2013 4§) BT L %
%4l PR A% 7 100 FOFEEL
SIS 98.0
#2 Tl 101.3
PAA ™ fl 0 JEUR 101.3
PAFEA ™ it b SOk 101.3
H Tl 97.2
e 94.2
JEORE 95.5
T 100.5
#2E )7 GER 97.5
e 94.2
JEORE 95.6
T 100. 4
A S R 100. 6
i 101.8
KE 100. 1
— % H 5 99.8
Tif FHAE 9% fib 100.5
e TAATE R 253
RS TIFRAVE L 84.3
AR TTT R 92.3
BEGRT R 102.5
A EE R R 94.9
EE B R 111.8
AR A Tl 106.9
B il 3l 113.7
OB M 100.5
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6 -6 2k (2013 4F) B %
%l DL AR 100 AYFE 5L
ig0lk 101.2
PTGUIRE HE IR 99.7
BEH B R W () S ol 97.0
AT B A e 5l ol 108.0
Z A 100. 0
TR S AR ol 98.2
BRI R A (14 52 11 100. 1
SCHARE F it 100.0
AN T R SR Tl 95.2
P2 TR B2 1 it i 97.4
[ 245 i 3 ol 96.6
22T A 94.0
Al il 100.0
SRR f ol 105.0
AR B Pyl ol 100. 4
TR R SRS N Tl 94.5
AR R SR SE AN Tl 94.3
A J il il 99.5
HH B A ) 3l 100.9
L B 105. 1
A IS B A I 97.9
RSB S A A 1 ol 98.9
AR B TN A T B 99.2
DEENE IS ALY il A4 103.8
T2t B HAb il b 99.4
L AT B A 7 RS R 98.2
PRAE PR R 89. 1
PN S 1P AN A 100. 0
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6 -7 Tl A=A M A 1 R ()

(2013 4F) BT %
%kl PLEAEH A% A 100 HFE%L
EEBIE A 97.7
(—)#RRE 312 9.5
() BESEHEEE 95.6
I 95.0
He 96.3
(=) A EEEM BB L2 94.7
(1) b T2 93.1
() A B4R 2 99.7
(75) EEGIM AL R AR S TR 2 99.4
(b)) BB Tl Ak B i i 25 101.0
ON) AREN =28 110.7
L) i sk 2R 99.3
AT (Al )
gl 111.0
Ml 100.7
ol 106.2
L IR TSR APl 92.9
A AN RAR ST R 95.1
RS RH R 97.6
AL R Rk 85.5
E| S i 100. 1
ARSI Tl 106.9
A i il 114.3
W eETilben4 95.9
2540 99.3
AR AR AT e A R ol 100. 4
1 48 K AR f Ll 99.1
V)l A2 S5 1 52 il 100.0
BN T B S AR RN Tl 98.5
2 U B A 2 il i ol 35 ol 92.2
= 24 3 Ml 98.8
2= 27 A il 1l 99.8
PRI il ol 101.1
SRRHE] ol 100. 1
Aea B Wil sl 98.7
TR0 4 R IR R BT SE i Tl 95.1
A SR IR SR IE NN Tl 96.7
4 I il ol 103. 4
T8 R il 15 Ml 97.3
A3 12 iy LA il il 106.5
AL AL B A5 il 99.1
BAE A RIS At 3 A il 2l 101.9
JE ST IR AN [H A4 AL ETSOn Talk, 94.2
F g B G A P AR 100. 1
WA a1 (2 A | 4 102.9
TR B A 7 R 1 100.0

— 122 —



6 -8 TolbA =& T s da e H )

(2013 4F) B %
%l — A R = 9 A 4 HAG NAG
EET I & 97. 97. 97. 96. 96.8 97.8
#iE Tl 101. 101. 101. 101. 101.0 101.7
PAAR ™ i by JRk 101. 101. 101. 101. 100.2 101.0
PAAEAR 7 it o e 101. 101. 102. 101. 101.9 102.5
Tl 96. 96. 96. 95. 95.8 96.9
A 89. 92, 91. 92. 91.3 89.9
JE 95. 95. 94, 93. 93.7 95.6
JnT. 99. 99. 100. 100. 100. 1 100.2
#4:TGORL 9. 96. 9. 96. 96.0 97.1
A 89. 92, 91. 92. 91.3 89.9
JE 95. 95. 94. 93. 93.6 95.6
JnT. 99. 99. 100. 100. 99.7 100.2
A TE SR 101. 101. 101. 101. 101.3 101.5
b 102. 102. 102. 101. 101.5 101.2
K& 99. 99, 99. 99. 99.9 100.0
— A F 101. 101. 102. 101. 101.4 102.1
Tt JFEI 9 % 100. 100. 100. 100. 100. 8 100. 8
FDATIER Hh2E 55
SRR TT R NP M1 80. 82. 8l1. 83. 80. 1 78.4
A AR STIFR 92. 92. 92. 84. 81.9 85.0
RSB R 93. 96. 100. 97. 98.5 98.2
R R ST 98. 99. 100. 99. 100.9 94.9
E| S 4 104. 103. 104. 109. 110.1 113.1
AR E o ol 107. 108. 107. 106. 106. 6 107.2
B il 113. 116. 121. 116. 118.3 122.1
Yokl g il 101. 101. 100. 100. 100. 4 100. 4
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6 -84k 1 (2013 4£) B %
%l L AH A LA AL | A% | TZAK
EET I & 98. 98. 98. 98. 98.7 100.1
#iE Tl 101. 101. 101. 101. 100.9 100. 8
PAAR ™ i by JRk 101. 101. 101. 102. 101.4 101.5
PAAEAR 7 it o e 101. 101. 100. 100. 100.5 100. 1
Tk 97. 97. 97. 97. 98.2 100.0
A 95. 95. 96. 97. 96.6 102.2
JE 96. 96. 95. 95. 96. 1 98.3
JnT. 99. 100. 101. 101. 101.5 102.0
#4:TGORL 97. 98. 97. 98. 98.6 100. 4
A 95. 95. 96. 97. 96.6 102.2
JE 96. 96. 95. 95. 96.6 98.8
JnT. 99. 100. 101. 101. 101.3 101.9
A TE SR 100. 99. 99. 99. 99.1 99.0
b 101. 101. 102. 102. 101.8 101.4
K& 99. 99. 100. 101. 101.4 101.4
— A F 100. 98. 98. 97. 97.0 97.0
Tt JFEI 9 % 100. 100. 100. 100. 100. 1 99.9
FDATIER Hh2E 55
T RN PEBE N, 84. 84. 85. 87. 86.7 99.0
A AR STIFR 89. 104. 106. 96. 92.3 96.2
RSB R 102. 104. 106. 113. 110.9 110.0
R R ST 94, 94, 92. 87. 89.7 89.5
E| S 4 116. 118. 117. 113. 113.7 116.1
AR E o ol 106. 105. 106. 108. 107.0 105.5
B il 115. 112. 111. 107. 107.3 104.9
Yokl g il 100. 100. 100. 100. 100.3 100. 1
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6-84i%k2 (2013 4£) B %
x — A4 Z A% = Ay A 4 HH G NHA G

5401 101. 100. 101. 102. 99.9 101.7
iR IR 99. 99. 98. 99. 99. 4 99. 4
B BB PR (S0 KO ol 96. 98. 97. 97. 96. 4 92.6
ARBINT B A AT e A Bl il 108. 108. 108. 108. 108.6 110.8
FEE 100. 100. 100. 100. 100.0 100.0
T A% S AR ol 98. 99. 97. 98. 96.8 97.4
VMl AN SR A 114 52 11 98. 100. 100. 100. 100.3 100.3
SCERE A il 3l 100. 100. 99. 100. 100.0 100.0
AN L B B sk ol 97. 96. 93. 91. 92.1 96.9
A2 TR e Ak 2 it i ol 96. 95. 96. 97. 97.1 98. 4
152 24 i ol 99. 100. 98. 97. 97.6 97.6
LT i 1l 95. 95. 94, 90. 94.9 95.4
B il 100. 100. 100. 100. 100.0 100.0
SHAHE] ol 102. 101. 101. 101. 101.5 107.6
A& B Yl il 99. 98. 99. 100. 100.5 100.2
BRI SR N Tl 92. 95. 94, 90. 89.8 89.2
A 4B R R SR Tl 94, 96. 95. 96. 9.1 95.6
&g il ol 99. 99. 99. 99. 98.9 98.9
i A il 99. 100. 100. 100. 100. 6 100.7
LA 102. 103. 102. 104. 104.8 104.6
A3 Ja i 15 A5 i 98. 100. 99. 99. 97.8 99.4
S B 2544 1 38 Ml 98. 97. 98. 98. 97.8 97.2
TAF TR TR 15 45 i 3l 9. 100. 100. 93. 100.9 100.9
AL B Sl o FHBILAR 3l 106. 106. 106. 106. 106. 6 106. 5
T2 B A 3l 99. 99. 99. 99. 99. 1 99.2
LT R B A 7 R R 98. 98. 98. 98. 98.6 98.9
PR A P FIAE R 81. 81. 8l1. 81. 81.5 81.5
KB P FIAE R 100. 100. 100. 100. 100.0 100.0
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6-8 43 (2013 4F) HA %

x A% JNA B JUA G A% | A | TZAH

5401 101.8 101.4 101.9 101.5 100.3 100.4
iR IR 99.0 99.3 99.6 100. 8 101.0 101.1
B BB PR (S0 KO ol 93.4 97.5 99.8 97.7 97.3 100.7
ARBINT B A AT e A Bl il 109.4 108.9 107.8 106.7 105.7 104.6
FEE 100.0 100.0 100.0 100.0 100.0 100.0
T A% S AR ol 97.9 97.6 98.3 98.3 98.0 99.5
VMl AN SR A 114 52 11 100.3 100.3 100.3 100.3 100.3 100.3
SCERE A il 3l 100.0 100.0 100.0 100.0 100.0 100.0
AN L B B sk ol 97.7 95.8 93.2 94.4 95.0 98.7
A2 TR e Ak 2 it i ol 98.9 97.5 96.5 96.9 98.6 99.7
152 24 i ol 97.6 94.9 94.6 93.4 93.4 93.8
LT i 1l 93.0 92.6 93.0 93.9 94.5 96.2
B il 100.0 100.0 100.0 100.0 100.0 100.0
SHAHE] ol 107.2 108.3 108.0 106.4 107.2 107.5
A& B Yl il 98.4 100.2 100. 6 102.1 101.8 103.0
BRI SR N Tl 91.8 96. 8 100. 8 98.1 96.7 99.0
A 4B R R SR Tl 94.8 9.1 90.5 92.8 93.1 92.9
&g il ol 98.9 99.9 99.9 99.9 100.0 100.0
i A il 100. 5 101.2 101.8 102.5 101.2 100. 6
LA 104.8 104.9 104.7 107.5 108.3 107.8
A3 Ja i 15 A5 i 97.2 95.9 96.4 96.9 97.2 95.6
S B 2544 1 38 Ml 98. 4 99.2 99.9 100.3 101.0 100.9
TAF TR TR 15 45 i 3l 100.5 100.3 100.3 100.3 100.3 100. 4
AL B Sl o FHBILAR 3l 104. 6 103.0 100. 8 101.0 100. 6 98.7
T2 B A 3l 99.6 99.4 99.9 99.9 99.8 99.8
LT R B A 7 R R 98. 4 98. 4 97.9 98.0 97.3 97.1
PR A P FIAE R 81.5 106.0 106.0 100.0 100.0 100.0
KB P FIAE R 100.0 100.0 100.0 100.0 100.0 100.0
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6 -9 TlbA = WA Fa 8 ( H )

(2013 4F) A%
% A — A — Ak = A A HH G 7S Ay
EEBIE R 97.5 97.2 97.1 95.9 95.7 9.8
(—) #RRL 372 96.8 95.4 95.4 93.7 93.8 95.6
() BESEHEEE 93.9 95.9 95.6 93.4 92.0 93.0
#AL 93.8 95.5 96.0 94.7 92.3 92.8
HE 94.0 96.5 94.9 91.7 91.5 93.2
(=) AL BRI L 9. 1 95.4 93.5 93.7 93.6 94.2
() fb TR 95.0 93.4 93.2 92.7 92.6 92.0
() A B4R 2 99.1 99.7 99.9 99.8 100.0 100.5
(75) EEGIMABL RAR G B 128 100. 8 101.3 101.2 100. 8 98.9 98.6
(b) Hw Tl Rk S i 28 100.5 100.7 100.6 100. 4 100.6 100.5
ON) AREN =28 107.8 110.7 110.9 110.5 111.6 113.5
(L) Gi8Us L 96.8 97.6 101.0 100. 8 100. 1 100. 8
AT (Al )
gl 107.5 111.1 111.7 111.4 112.1 114.1
Aol 102.2 102.2 102.2 102.2 102.2 102.2
E ol 114.5 102. 4 97.3 95.4 102.8 103.8
JE IR TSR AN Ve, 9.5 92.0 92.8 92.1 92.7 92.5
FATHARIR TR 93.5 91.6 91.6 88.9 88.0 92.3
B EY R 95.0 99.5 96.5 89.9 89.5 93.5
AL mY Rkl 93.7 89.1 83.2 85.3 84.5 85.8
dE4 By Rkl 102.6 103.9 103.9 103.1 99.5 98.8
ARIE N Tl 103.7 103.9 103.9 103.5 105.4 104.8
B il 7l 103.3 102.5 102. 4 101.5 104.5 109.3
Ak 75 Ml 94.0 94.2 94.2 97.4 97.8 96.9
254 9. 8 97.6 101.0 100.8 100. 1 100.8
ARFINT R AT B A il il 99.8 100. 1 100. 8 100.9 101.0 100.9
14K K A0 ol 97.9 98.8 98.8 98.6 98.9 100.0
V)l A2 S5 1 52 il 100.0 100.0 100.0 100.0 100.0 100.0
AN T AR S AR Tl 99.1 98.6 97.5 95.5 96.8 99.8
A2 Ak B A 2 ] it i ol 9.5 92.7 92.5 91.8 91.7 90.9
= 24 3 Ml 102.6 103.1 102.5 102.2 100. 1 99.0
2= 2 A il 15l 96.9 98.1 98.9 99.2 99.6 99.6
AR ol 102.4 103.1 102.5 102.4 101.2 101.2
SRR ol 100.0 99.7 99.6 99.9 99.9 100.2
AE& B Wil ol 98.9 98.6 98.3 98.4 98.3 98.4
SO SRR R SRR i Tl 93.6 95.0 95.2 94.2 92.5 92.9
04 R IR R T LE fin Toll 96.6 96.9 95.9 95.7 95.5 96.0
4 & i ol 104.7 105.0 105. 4 103.7 103. 1 103.2
38 FH Al 1l 98.9 97.6 97.9 96.0 96. 1 96.3
RTINS i b4 107.3 106.6 107.3 105.9 105.9 105.7
R SHIL B A A i 1 100. 4 100.0 99.4 98.9 99.2 99.2
TAF A AL I F 15 A il 3l 99.6 101.3 101.3 101.2 101.2 101.2
J32 3 B YRR Z TE A TS Tl 88.8 90.7 92.3 92.8 92.9 91.8
7] AT AR P R R 103.4 101.1 101.0 100.0 99.8 99.5
SRS T FIAEE R Ml 100.0 100.0 100.0 100.0 100.0 100.0
IR A 7= FAE R Al 100.0 100.0 100.0 100.0 100.0 100.0
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6 -9 £k (2013 4F) AT %
% A A H A JUA G A% | Al | A%
EEBIE R 98.3 99.3 98.5 98. 4 98.4 98.9
(—) #RRL 372 98.9 99.7 97.7 97.5 97.1 97.5
() BESEHEEE 93.6 96. 6 98.0 98.3 98.6 98.7
#AL 93.0 94.8 97.1 96.7 97.0 97.2
HE 94.6 99.4 99.2 100.5 101.0 100.9
(=) AL BRI L 93.9 9.6 95.0 95.1 95.4 95.8
() fb TR 92.0 91.6 91.9 92.5 93.3 96.6
() R B4R 99.7 99.4 99.3 100. 1 100.2 99.3
(75) EEGIMABL RAR G B 128 98.5 97.8 98.1 98.3 99.1 99.4
(b) Hw Tl Rk S i 28 100.3 101.5 101. 4 101.7 101.7 101.9
ON) AREN =28 113.2 112.9 111.2 109.4 108.9 108.3
CINEIERYY s 100.3 100. 1 98.7 98.6 98.4 98.4
AT (Al )
gl 113.8 113.3 111.2 109.2 108.5 108.1
Aol 102.2 100.0 100.0 97.8 97.8 97.8
E ol 102.9 105.7 111.7 113.5 115.5 111.8
JE IR TSR AN Ve, 92.0 94.6 93.6 92.9 93.6 93.0
FATHARIR TR 101.5 103.1 99.0 98.4 97.7 99.0
B EY R 96.8 102.8 100.9 103.1 103.8 103.1
AL mY Rkl 82.0 81.1 81.4 84.9 87.0 88.7
dE4 By Rkl 98.6 97.3 97.9 98.1 98.2 99.2
ARIE N Tl 106.0 110.1 110.0 109.9 110.3 110.7
B il 7l 113.9 118.4 121.4 124.4 131.9 138.7
Ak 75 Ml 97.8 96.3 96.3 95.2 94.9 96.0
254 100.3 100. 1 98.7 98.6 98.4 98.4
ARFINT R AT B A il il 99.7 99.2 99.1 101.3 101.8 99.8
14K K A0 ol 99.3 99. 4 99.3 99.6 99.4 99. 1
V)l A2 S5 1 52 il 100.0 100.0 100.0 100.0 100.0 100.0
AN T AR S AR Tl 103.1 101.0 97.6 98.1 97.6 98.3
A2 Ak B A 2 ] it i ol 91.0 90.5 90.8 91.5 92.5 9. 1
= 24 3 Ml 96.5 94.9 95.9 97.0 95.7 96.0
2= 2 A il 15l 100. 6 100. 4 100.9 101.6 100.6 100.8
AR ol 101.2 101.7 100.0 101.6 98.4 97.4
SRR ol 100. 4 100. 4 100.0 99.8 100.2 101.0
AE& B Wil ol 98. 4 98.4 98.3 98.6 99.9 99.5
SO SRR R SRR i Tl 93.0 95.4 97.4 97.2 97.5 97.7
04 R IR R T LE fin Toll 96.5 97.5 97.9 97.3 97.2 97.2
4 & i ol 102.5 102. 1 103. 4 103.3 103.3 101. 4
38 FH Al 1l 95.7 97.4 97.5 98.3 98. 1 98.3
RTINS i b4 106. 4 107.5 107. 4 107. 4 106.9 103.4
R SHIL B A A i 1 99.0 99.7 98.0 98.7 98.3 98.3
TAF A AL I F 15 A il 3l 99.6 102.6 102.7 103.4 104.2 104.7
J32 3 B YRR Z TE A TS Tl 91.7 94.7 99.0 100. 8 98.3 98.4
7] AT AR P R R 99.9 99.8 99.9 99.4 99.0 98.8
SRS T FIAEE R Ml 101.7 102.7 107.5 107.5 107.5 107.5
IR A 7= FAE R Al 100.0 100.0 100.0 100.0 100.0 100.0

— 128 —



BREENMREY HRERNE, 23RS
Ja B ST I H A 8 2% 04 7 i AR 55 25T H A
WA o T BT DR 6 ) 4 A 55 2 el A 98 AR R
LT dh AR 55 35T H A 5 2 1 ST S
FEAERL(CPL) |, & 75 B Be— 52 I3 9 Js B BT 3 9%
i S 55 350 H A K SF AR S A AR SRR, T
T P AR K (922 Bl 3 A — RE R JEE 1 e 13 e
JZRK (B 4 AR . L H AT T 4 [ A5
IARAE B FEAAT DL, 70 A WF TSN AR AL Bl Xt 48
DA RAE T 52 39 A2 4% BURT il E BOR AT
R AT R R A, LU [ R G R
SR, VA N AR 2 IR 2 Fe RS B 5
IR AR LR s B B 45 4 A 2% > U | 4%
PRGBS AT GRBE B FH it L B R
55 RS ORAE AN AT Ah S A A5 e SR 20H S0k
P Bk 55 SRS 8 AR 262 DEEAIIE,

BREEMRIEL AT HEMA, R
TR S R P R — A FR T B RS 2 Tk Rk
BN ANA T Aol 150 3 2 i B LI A
AR S AT A TR B o BT R AR A £

FERITIEIRRRE

AR5 R G el A 98 4 FURE BT 3 3 o B AN
FEBORL, g il B 2 B AR PR HC(RPL) |, DL Sz ke i
G A A S AR SR, K H iTE
TSR RSO AS  AE Bl Sy [ S8R W 45 A [
RATRFTRMESHWIG . WA NS Tk 55
b R AT b 1) 2 7 A DA R R RO AR AR
ol BB T A A A B Ay R B ORHE
T IR | 2580 KT A8 S et SCiedp
/NN NN N = R R RN S TR R TN
B At AR ER T P2 S BRI O A
Ha i B i - AR JORRE R SUATRE K T4 RS
16 K ,229 ANHEEAS

T F=HEMIIEE Tk~ M ek,
J2 Tl A= 7= 7 T AR R A% A AN BB Py
IR D OR s QA o 0 B | A Y < K St B
RSN AL SR o Tl AR 3 AR 5 4L
HT Tk A7 25 T s 48 20 (PP AN A 57 45 T
PENAE TR AR 3 20, Horb, Tolk A= 73 T i
MG 39 ATk AT I R, 191 A Dl ATk b
25,525 ATl AT/ Tl ™

— 129 —








